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Jfor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
were fRaprEe Aot See o -

(a) The continuous movement farther and
farther away from the original
equilibrium position refers to
equilibrium.

( Fill in the blank )

T SR R o[ ARIGSIE [ W
SIS FADIT _ ST Jam |
(¥R 5 I FN)
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(c)
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(2)

When the price of a substitute of
commodity A falls, the demand for A

(i) rises .
(i) falls
(i) remains unchanged
( Choose the correct one )
afem A TIRE R 7 I, cofm aq
S s
(&)
(@) ¥
(i) I WF
' ( omchl MR Sfereay )

While drawing an individual demand
curve for a commodity, all but which
one of the following are kept constant?

T OR GRA @9 T IECS TN (TR
IR TR iR s 3 4R @R =9

(i) The price of the commodity under
consideration

RRR IR 7R @

(i) The prices' of other related
commodities '

7 o 4 T T
(i) The individual’s money income
(STETEH Tl S

( Continued )
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(d)

(e)

9

(h
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(3)

(iv) The tastes and habits of the
individual
CreEE $6 W TSP |
( Choose the correct one )

( omeh iR Sferean )

If the income elasticity of demand is

greater than 1, the commodity is an
inferior good.

( Write True or False )

T i uE Rgere gty R =,
o TRy g w3 91

( 3% & =7 T )

What does a budget constraint line
exhibit?
Ace-Nke @R & oeda T

What will be the shape of the Engel
curve for a Giffen good?

T 7R I W (AR A AT
T3

What is an isoquant?
AT 1 2

What is opportunity cost?
A TR
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(4)

) What does the cardinal utility approach
assume about the marginal utility of
money?

T AR SoAiIe] Foicd SR Beraifaer
. Rerw e fiorf &2

() Price effect = Income effect +
: Substitution effect

( Write True or False )
™ R = < Rt + 2w Rer
(37 ¥ 7oy fore )

2. Answer the following questions - 2x5=10
Y PP Teg ol -
(@) What is comparative statics?

m@ﬁﬁhﬁ@rﬁv

(b) Draw g hne diagram showing static
market equilibrium.

@%ﬁawmmaﬁhﬁw
HN 90

() What does the marginal rate of
Substitution of x for y (MRS ) refer to?

wﬁﬁﬁmmm (MRS ) TR+
& @ e
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(5)

(d) What is Giffen paradox?
forces 314d 2
(e} Show the shape of isoquant in the case
of perfectly substitute factors.
o AfSFE TAMAR (FAS  ANTRATARIR
SIS (AT W, (YA |
3. Answer any four of the following questions :
: ~ 5x4=20
@l R rea1 vifsdt 2 T o -
(@) Explain how ‘scarcity’ leads to economic
problems.

TR v wife IR R <, W
F9q1! :
(p) Draw and explain an income-
consumption curve.
GTe SH-Goels] (I SEH TR G I]0 1
{c) Clarify the meaning of explicit cost and
implicit cost.
RPN I F AP I Y o3 o |
(d} State the concept of production
function.

T TN YIRONCH SCEY 9
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(6)

(e) Briefly describe the concept of
expansion path.
TR I YIRETICOT BLF 3 941 |

() State any five economies associated
with an increase in scale of production.
TeomeR Tl IR O wfde R @
101 e Sras 1 |

4. Answer the following questions : 10x4=40
T PR Ta ford
(a) State the concept of market

A9/351

interventions. Describe various kinds of
market interventions. 2+8=10
IWE TR qRIo! o | Riea ey <@
TCROR 3¢ famn o
Or / 3531

Explain the limitations of cardinal
utility approach. State two reasons
showing superiority of indifference
curve over the cardinal utility analysis.

‘ : 6+4=10
were Terafiel ReAR Mymernz
T | MRS TAROR pore Ageors @[
croed o1 199 farn o /
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(7)

(b) “Indifference curves exhibit three basic
characteristics : they are negatively
sloped, they are convex to the origin and
they cannot intersect.” Explain these
with diagrams. 10

“frarers (IR MG 2uw AT Cxw : TR

TR 4T, T R P b we ¥
ol FRI GRKIR 1 Foag T I F40

Or / 91

Elaborate the concept of consumer’s
surplus. 10

COTER ¥geT YR IR o |

(c) Describe different stages of the law of
variable proportion with a suitable
diagram. 10

g g R RN S RRGR
TP 3 e o ‘
Or / a1

“The long-run average cost curve is
U-shaped and relatively more flat than

the short-run average cost curve.”
Explain the statement with appropriate
diagram. 10
‘DR M-I (@WEE U-SRpRR
TR TSI AT ST T/ 1 IYWK
oy o S I 0
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(8)

(d) Draw -and explain marginal revenue
curve and average revenue curve under

perfectly competitive market and
monopoly. 5+5=10

off AfSCTboTET TR WF Gwohn I
2R S (391 AF TS S (31 % R M

FqMH
Or / 91

Explain how a firm attains equilibrium
with the help of total revenue and total

cost approach. 10
I I F T I ROAR 2o A 997
ST FTSY SRECO! T 3147 |
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